Orliki

6zespotow | 6zespotdw | 5zespotdw | 5zespotow
1 sedzia 2 sedziow | 1 sedzia 2 sedziow
1 | Ekwiwalent 135 70 90 45
2 | Koszty uzyskania przychodu 20% 0 0 0 0
3 | Dochdd 135 70 90 45
4 | Podatek 23 13 16 8
5 | Razem 1-4 112 57 74 37
6 | Koszty dojazdu
7 | Do wyptaty
Zaki
6zespotow | 6zespotdw | 5zespotdéw | 5zespotow
1 sedzia 2 sedziow | 1 sedzia 2 sedziow
1 | Ekwiwalent 120 60 80 40
2 | Koszty uzyskania przychodu 20% 0 0 0 0
3 | Dochod 120 60 80 40
4 | Podatek 22 11 14 7
5 | Razem 1-4 98 49 66 33
6 | Koszty dojazdu
7 | Do wypftaty
Skrzaty
6zespotow | 6zespotdw | 5zespotdw | 5zespotow
1 sedzia 2 sedziow | 1 sedzia 2 sedziow
1 | Ekwiwalent 90 45 60 30
2 | Koszty uzyskania przychodu 20% 0 0 0 0
3 | Dochdd 90 45 60 30
4 | Podatek 16 8 11 5
5 | Razem 1-4 74 37 49 25
6 | Koszty dojazdu
7 | Do wypfaty




